
I) We are calculating the impedances related to an inductor and a capacitor. Which of the following 

is the correct?  

A) Inductive reactance translates into a positive imaginary impedance while capacitive 

reactance translates into a negative imaginary impedance. 
B) Both inductive and capacitive reactance translate into a positive imaginary impedance. 

C) It depends on the values of the inductor and the capacitor. 

D) Inductive reactance translates into a negative imaginary impedance while capacitive 

reactance translates into a positive imaginary impedance 

 

II) Rapresent the following voltage sources in the phasor form.   

A) 𝑢𝐷𝐶(𝑡) = 150 V → 150∠0° V    

B) 𝑢𝑠1(𝑡) = 120 cos(100𝑡 + 45°) 𝑉 → 120∠45° V 

C) 𝑢𝑠2(𝑡) = 130 sin(100𝑡)  𝑉 → 130∠ − 90° V  

D) 𝑢𝑠3(𝑡) = 220 sin(100 ∗ 2π ∗ 𝑡 + 75°) 𝑉 → 220∠ − 15° V  

 

TIP: sin (ωt) = cos (ωt − 90°) 

 

 

III) What is the configuration of an instrumentational amplifier? 

A) Two inverting amplifiers follow by a differential amplifier 

B) Two buffer amplifiers follow by a non-inverting amplifier 

C) Two differential amplifiers follow by a buffer 

D) Two non-inverting amplifiers follow by a differential amplifier 

  



 

  



 

  



 





 


